Otro limite
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Calculo de limites en funciones definidas a trozos.
Ejemplo:

f(x):{Z—x2 si x<-2

Ix—1 si x=2-2

Lsz(x)—Lzm(Z x) 2—(—5)2:—

x—-5

Lim f(x)= Lim (2-x*)=2-(-2)* ==2

Lim f(x)= o 7 no el limite
x— -2 Lim f(x)= Lim 3x—-1)=3(-2)—-1=-7
x—-2" x—-2"

Ll’n;zf(x)=Ll’n11(3x—1)=3.1—]=2



Pig. 295, 8
K+ x+1

X+1 si x<0
fx)= ,
x+1 si x=20

Lim f ()= Lim (¢’ +1)=(-2)’ +1=5

Lim f(x)= Lim(x+1)=3+1=4

Lim f(x)=1""" =]
x=0 Lim f(x)=Lim(x+1)=1
x—0*

x>0t

Lim f(x)= Lz’i;n_(xz +1)=1 }

6) a)=III b) =1 c)=1I



Péag. 282 Limites en el infinito.
Graficamente, 1
Calculo aproximado,

Lim 3x=5 _ _3
x4 x4+ 100
3x—5
x —
x+100
10 3-10-5 _ 02272
10+ 100
100 3-100=5 _ 1408
100 + 100
1000 | 3:1000=5 _ 27227
1000 + 100
10000 | 3:10000=5 _ 29698
10000 + 100
1000000 2999695
10000000 279999695
Lim 3x = +o0
X—> +o0
Lim(3x-7)=
X—> +o0
Lim\5 ) = —00
X—> +o0

(5-
Lim ( ) +o0
-

xX—> +o0
Lim\=5x*+7x = x°
X—> oo

3
Lim—=0
X—> 4o x

Pig 283, 1

3x)= Lim (— 5x4)= -

X—> Fo0



